Year 5 Maths Homework — Mr Lindsay’s Group — 3™ December 2018

1.

At the beginning of the year, there was £8452 in the school budget. By
the end of the year, £7864 had been spent. How much is left in the
school fund?

. At a weekend summer fair, £4673 was raised.

At a similar fair in winter, £8347 was raised.

i) How much was raised altogether?

ii) How much more was raised at the summer fair than at the winter
fair?

. Here are some distances:

Journey Distance (kilometres)
London to Paris 934 km

London to Rome 1461 km

Paris to Rome 1186 km

A plane flies from London to Rome and then on to Paris.
How much further is this than flying direct to Paris from London?

A ship arrived at a port carrying 657 tonnes of cargo. 98 tonnes of cargo
were unloaded. The ship was then loaded with 61 tonnes before leaving
the port.

How much cargo was on the ship?

. The populations of the three largest towns in a county were 6754, 4534

and 2971.
What was the total population of these three towns?



